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PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Qenaupeuarauppidr @ramgH@ Geuleaun® damalpen gpssTP 500 Qempsefle
e wall&seyin.
1.  Give a brief account of prison reforms in India.
@pHwuneier Hanp STHmSHHISMETL upd smesLrar SlaTESEDL F(HS.

Define ‘Victimless Crime’. What are the remedies available to such victims
under the Indian legal system?
sppuurduuneai Goor Ghnses dasss. @pdu UL S@wLLED  GDDL
ardluuner(mé@ HoLsssemigw Siasdr cerear?

3. Explain Lombroso’s theory of criminality.
wmbyGaneler Gomalwd CamiumieaL alaré@s.

PART B — (2 x 7 = 14 marks) .

Answer TWO of the following in about 300 words each.
QereumearauppeT @raryhE @eueunm, dlamallbGn gnssmp 300 Qenhaetd
e waflgsaybd.
4. ‘Capital punishment’ should it be fully abolished? Discuss.
e gaT_emen ratugl wpewwns fesuul Caudt@on eleurfsseab.

What are the advantages and limitations of open air prisons?

Hops@eel Sapsrerwsafian paranw, gwma;én wreney 2

@

6.  Give an account of the salient features of the Probation of Offenders Act, 1958.
panan_gg aLLib, 1958-cr AptnSudysed ABMGEsassa b,
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PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :
Senaumeuanaupmer phHOS Sm GHULSET U8,
(a) Marginal crimes
GN (GDHDEISE
(b)  Borstal school
@eargppeurafl FiSGSSULGTE
(¢)  Bio-physical factor
2 Leoenwoliy Hest]
(d) Religion and Crime
FLOWPLD @;_f;gp@Lb
(e) Female criminality
Quaimentn snikhs GSDDESHID
() Habitual offenders
CUPSHSLONGS GoolepuGun
() Chromosomal factor

Wiy Sgéanyenl

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of Law and

decided cases. Give cogent reasons.

Wemeu (meuaTeub m et @ramghE FLL emswrise wHpb Stwrelsstiur L QULPE(GHEDETE

g 5&HS sTTaNksERL cllenL walléseab.

‘A’ a police officer and his team, while arresting ‘B’ was about to get attacked
by him with a knife. So ‘A’ shot ‘B’ to avoid the situation. In consequence, ‘B’
dies. Discuss the consequences of A’s behaviour.

‘@ eranp srad ferlyd SwWTs GUL. ‘@ aauwer @asg Qs
Qumg. Surmd &5 Qarem® sTESULEL Gd FHUGEDE. GwHleeaw
seflfughans ‘o eaaueui ‘) -mas &OEADTT. @ Neereuns ‘<’ @padomi.
‘o -ellern Gewene unM eNeundésayd.

‘B’ a doctor gives pills to ‘C’ for abortion. ‘C’ after returning home takes the
pills and on the same day dies. Discuss the nature and consequences of B's act.

‘@’ @I WDmSFe ‘@ -G a.,@gé]a)g,aglﬁ)a;rrm wrsdengsener safsfpnd. ‘@)’
geang SLlyp@ Qeerm Genart wrsdegsamer OS54 Qarendlprir wHmb HCs
preTenm EoHEn SOHDmT. ‘< -eNeT Qswedlen satemLWLL faeTeysamarujd
efleundléEgaLd.

2 5692—23/FAXA]




10.

‘A’ a ment o
ally retarded man undress himself in 2 crowded street and walks

Analy i
‘ n‘ lyse the behaviour of ‘A’ with relevant theory.
< Gl
L:gpm mmﬂmw U”é;]B'aG’,L'JUL:.L- &} D &&ET ﬂﬁ eren Qﬁ@ @ szl
Sl %@523?1”’@’ pLsfpm. ‘or-eidn Qeueme HOEBE GETLUNG QsrenG
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